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(a) Sketch the expected trajectory of the comet. Indlcme the impact parameter b and the angle of

<cattering (deflection) ¢ on your plot.

Daﬂacﬁon by a central 0
atected at the edge of the solar system. It has a velocity ¢ and an

(i) Show that the total energy of the comet as a function of position vector © from the centre of the
Sun may be written as: o
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E = -mi? + ==,
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Find expressions for J and o

() Using the result in (b) or otherwise, show that the distance of closest approach to the
the Sun is

where G is the gravitational constant.




